ZERO DOUBTS

MATHEMATICS (BY PANDEY SIR)

Class-12™ WEEKLY ASSIGNMENT (22- 28/06/24)

SATURDAY (22/06/24)

1.

d)

letz=1+iandz, = 1z 1. Then 1n—2arg (z1) isequal to __. [Ans: (9)]

z'(l—z)+z

1+sin?Z+i cos>Z 3_

The value of | —=%—= | is [Ans: (c)]
1+51n?—lcos?

-~(1-iV3)

~(1-iv3)

-5 (3-D

(V3 +1)

SUNDAY (23/06/24)

Ifforz=a+if,|z+ 2| =z+ 4(1 + i), then a + B and af are the roots of the
equation [Ans: (b)]

a) x2+3x—4=0
b) x2+7x+12=0
c) x2+x—-12=0
d) x2+2x—-3=0
4. Let the complex number z = x + iy be such that Zzzzi,l is purely imaginary. If x +
y? =0, then y* + y2 — y is equal to [Ans: ()]
2
a) g
b) g
C) i
d) 3
MONDAY (24/06/24)
5. If|z,| = |z,| =+ = |z,| = 1, then |z; + z, + - + z,,| is always equal to:[Ans: (b)]
a) |zi| + |zp| + - + |z,
b) | =+ + - +—
Z1 Z2 Zn
1 1 1
d) None of these
6. Thevalue of sum Y13, (i"™ + i"*1), where i = V—1, equals [Ans: (b)]
a) i
b) i—1
c) —i
d o



TUESDAY (25/06/24)

7. Ifw=a+if, where B # 0and z # 1, satisfies the condition that (WI%WZ’Z) is purely
real, then the set of values of z is [Ans: (b)]

a) lz|=1,z+2

b) |z]=1landz# 1

c) z=2

d) None of these

8. Leta, B be the roots of the equation x? — x + 2 = 0 with Im(a) > Im(p). Then
a® + a* + p* — 5a? is equal to . [Ans: (13)]

WEDNESDAY (26/06/24)

9. LetA = {9 € (— %, n) : ijzzizz is purely imagina‘ry}. Then, the sum of the

elementsinAis [Ans: (a)]
) Z
a 3
A

b) -

o m
21

d) 5 -

10.letS = {z € € - {i,20}: 5" € R}, a — i € S,@ € R — {0}, then 2424 is

z=-3iz-2 11
equalto__ . [Ans: (1680)]
THURSDAY (27/06/24)

11. Let a, b, x and y be real numbers such thata — b = 1 and y # 0. If the complex
number z = x + iy satisfies Im (azz:lb) =y, then which of the following is(are)
possible value(s) of x? [Ans: (b, d)]

a) 1—4/1+y?

b) —1—,1—y2

c) 1+1+y?

d —1+1-y?

12. letz; = a + ib and z, = ¢ + id are complex numbers such that |z;| = |z,| = 1 and
Re(z,z;) = 0, then the pair of complex numbersw; = a +icandw, = b + id
satisfies [Ans: (a, b, c)]

a) |lwyl=1

b) [w,| =1

c) Re(wywy) =0

d) None of these

FRIDAY (28/06/24)

13. LetS = {z =x + iy:

Z;zi is a real number}. Then which of the following is not

correct? [Ans: (b)]




a) y+x%+y? i—i
— (0 =1
b) (x;:)’) - (OI 2)

c) x=0

0 e (== u(-3)

14. Let z; and z, be complex numbers such that z; # z, and |z,| = |z,|. If z; has
positive real part and z, has negative imaginary part, then % may be

[Ans: (a, d)]
a) Zero
b) real and positive
c) real and negative
d) purely imaginary



